CAN =] % I\
ZE " ) TR 1/1
HE B2
; T BT T w5
I R #8351 Bt HitiiE [Nl
1) EREGEG
i iER T RIET m3
122.8 120
BREL m3
123.3 120
2) MEEEE
EREREHT Okavs) KEMHRT BIHT 5 10))- KRR E m2 1663 166 ELALEBEHLF
YR EREAT Oktus) | TKERAE T KER A5 R E =® : : #t (500 x 500 x 700)
EEEREHT kU | EARARFRLALIT EKRBARFERLEY TBRE =® : 1 3%
KRR T KRR T BKBRE -3 : : &kE (40mm)  BABRYIR
TUHFHRE 20A = 10 10 HREEH T 10K B
32A #® 1 : HRMEH D 74+ 10K %B1
40A #®= 1 : HRMEHD 7+ 10K %B1
THEKRHE = 10 0 MTE! L400 % $2fF B6-L
KR T KR E 13mm = N o B3BSH &k
HAKERT HKERE PE4OMM  1:RERE m 6.0 6
PE20mm 2REE m
269.0 269
PE30mm 2REE m
59.0 59
PE4Omm 2RELE m
87.0 87
1RERIE R E EPZUEIN -3 s s
730 =
9 9
BIKHEKERE T EET BEELEZLERE VU150%165 5.1 2RERE m a5 9
BB - T UR—ILT SEKBERE I REE -3 5 5
TUR—IL kAL 2REE =




il

& MBI - KRS B 2V %

MR e (1) BGFT Hav))-KE LY

=11113

(& i e A T

AR R T BT Hav)) -k A = 166. 3 166.3 m2

R LT

A 166.3 m2




H— A i R HE A T R -

& MBI - KRS "

il

M e (4) X0

A — b R A T

IKERF455 T IKER P15 5 N

A o) | N

HAME (500x500%700) | N

(bhEEs - 0600, Z'L—F > 7 ¢ N
300)

o

e B bE




B PR it 5% B i CF - mRS - mprnE @) (3)
i 1| LI 8 H = ;o=
JERREEMIK (1) FAFIBABFER LR 7LD
B P i R A

AR LA 7 |3 4L = 1.0 1.0




Fe K B 1 R - mA - SPTEE (1)

(I MR - AR B E2V %

el

FaAE B - 20 K0

KK T
ARARFEEAT T |k 3s N = 1
L N = 10
ufrkte N = 10
KRR L okt N = 8

FARE (LRARLAE)

a7 3 P40 L = 6.0 6
ﬁz;ﬁ% (2IKACE) L =5+2+2+2+181+1+2+3+48+3+20 = 269. 0 269.
FOAR (i) L =14+20+25 59. 0 59.
FOAR (i) L =81+6 = 870 87.
B (52— b N - !
R i N = 9

#e (B




15 K HEAKEE AR T

JER - mifE - FPTHE (65)

& 1) HHB - HLES =1 = ¥ =
A EE - 2EE LY
157K BEAKHE A T
BT PR E =R L (W) 21.5 21.5 m
157Kt TG AF e s
V=T iﬁ;‘@%\i}woo N (kiEm) 2 2
TYA AL N Qi) 1 I

SR O+ L4




LT R

bl il AR TE i & K HAL B &
BHUER T - 1RIERK

=0 124. 2 8 m® 124. 2

WL 124.6 m’ 124. 6




ESCEZL(EE S e E T

HALYE Y O8cE . H \
e | e Tl -
moBl & S I VAN paee HE 52 7% 1 (m3) . g{f{)%@ (m3)
(m3) (m3) (m3) R

KA K T

Vi

Bk 0.106 0.015 0. 091 0.11 0.02 0.09

10 0. 060 0.029 0. 031 0.60 0. 30 0.30

8] 5 (20mm)

815 (30, 40mm) 0. 060 0. 029 0. 031 0.12 0. 06 0. 06

Be bR bR bm

10 0.093 0.071 0.022 0.93 0. 80 0.13

ARBOKIE

Fa KBS T

8K % (HZEPE20) 269.0 m 0.143 0. 142 0. 001 38. 47 42. 40 -3.93

ok i (HIZEPES0) 59.0] m 0.143 0. 142 0. 001 8. 44 9. 30 -0. 86

KoK (BIZEPEAO) — 1R A AS 6.0l m 0.151 0. 149 0. 002 0.91 1. 00 -0.09

ok i (HIZEPEAQ) — VK P A% 87.0f m 0.151 0. 149 0.002 13. 14 14. 40 -1.26

W R i g% T
75 BIREERRE(D27. 4 X 20. 2X 1. 6m

B
i

Y=
75 SRR IE (@22, 3X 18. 7 X 1. 6m i T

SR
7S B EEE)12. 2X 4. 3X 1. 6m &1 T

YT
B () IERMANE300 X 300

() ERVARE300X 300 (T-14 =
TERENT)

W%O(E) ERUARE300X 300 (Cos+ A
Uy bV —=F7)

7 L%y A NUBMANE (Y63) PU4-30

7L x A NUAMARE (%) PU4-36

B ABRE (BRI S 1 )
300 X 400

B A BARE (B A & 1 )
300 X 600

7L v A FLAYANEPL2-B300-H100
(FEAH., Be#2cem)

BT
B AV E = /L& D300

B D300

EAED300 KAk A L)

m
m
m
m
m
m
m
m
m
WAL B =L D350 7/
m
m
m

B D350

APt e v AR—L T
A K500

B
i

HPET500 (AR R 172 L) &1 P

%mwmmm<m$ﬁ%%mﬁiab> i

RIS L —F L i T




ESCEZL(EE S e E T

HAY Y O " = .
Wl R | wgr . il o s
RYE MR %+ (m3) . L;{L (. (m3)
(m3) (m3) (m3) R
H T HEK
i B HEAD 150 m
H%ébkl)soo m
Ny, 7 =/u “‘I
BT
FEELHL © = /LD 150 21.5] m 0.512 0. 359 0.153 11.01 8. 60 2.41
S5 A F o B EREVU 6 300 2 % 3. 290 3.113 0. 177 6. 60 6. 90 -0. 30
oAb b A L3R A O 1] =X 16. 431 13. 893 2.538 16. 43 15. 40 1.03
H— R i g F g T
IRER A4 T 1] =K 0. 808 0. 462 0. 346 0.81 0. 50 0.31
B PR it g A T
FAFIHE R LR 1 = 26. 669 22. 406 4,263 26. 67 24. 90 1.77
Rt (EATHEIVFHEH) 0.36

&E 124. 22 124. 58 0.00




ol KEfie L BGF Havy)- K Hi %% & 3 & Im2 %49
300 200 400
______ T Wt R s o= R =) I~
ITEL / i [T 8 &
xE H>—FIL2I EBTLF) =30
HE U5 0— k (18-8-25BB) t=100
(et A B BB %L & EO150 X $6
158 HAEYA  RC-40 t-100
ELMSE BEPYE  RC-40 t=150
pa N O = Y e i
B e RC-40 t=150 A = = 1. 000 1.0 m2
V = 0.15 . 0. 150 0.15 m3
g RC-40 £=100 A = = 1. 000 1.0 m2
V=01 . 0.100 0.1 m3
%j%iyy (18-8-25BB) =100 V=01 - 0. 100 0.1 m3
AR50 X ¢ 6 A = = 1. 000 1.0 m2
Tl P R A = 73X0.1/166 = 0. 044 0.044 m2
%8 vl EREES V = 0.03 - 0.030 0.03 m3




m ol IKER I T AKER b WA MR A B

FELkE ATULAEEIN

et B o

900

800

500

|

|

|

|

|

|

|

|

HgEETE \

v ™ |
B U i NP |

|

|

|

|

|

|

|

|

|

|

|

|
g Vg 150 it
— % d i -
=Y \ALM [ ;;; 115
= ! 18-8-25BBW/C=60%LLTF ?{”—;Pﬁﬁﬁﬂﬂmﬁqwrmﬁmﬁmq{—mi
150 a0 150 \ RERC-0) u - ﬁ

4 g % B = ™ &
7S 7ol V = (1. 4%1. 4%0. 35+0. 9%0. 9%0. 15) = 0. 808 0.8
= +TicTs vV = 0. 808 — 0. 346 = 0. 462 0.5
+ Vv = (0. 8%0. 8%0. 35+0. 9%0. 9%0. 15) = 0. 346 0.3
HpErea (RC-40) A = 0.9%0.9 = 0.810 0. 81
V = 0.9%0. 9%0. 15 = 0.122 0.12
a7 J—h |(18-8-25BB) vV = (0. 8%0.8-0. 5%0. 5)*0. 58 = 0.226 0.23
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